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Time : 3 Hours Marks : 200
Instructions :

(i) Eachquestion carries one mark.
B8 DHB 2.8 S8y, Sodb.

(i) Choose the correct or most appropriate answer from the given options to the following
questions and darken, with blue/black ball point pen, the corresponding digit 1, 2, 3or 4
in the circle pertaining to the question number concerned in the OMR Answer Sheet,
separately supplied to you.

BHS ANS B8 BHR ABWsS TES* HBGE JIFTIINK YT IV S0P
o8 1, 2, 3 B8 4 3 2)S OMR ddred Hghns® %) Dowgdo I Ke
D02005¢ 2¢3880 23/e78 S o0l DEY) HRTrA0D JoDIB.

1. Whatis the synonym of ‘amenable’ in ‘Both parties were amenable to a peaceful settlement
of the land dispute’.?

(1) Doubtful (2) Unwilling (3) Responsive (4) Disagreeable

2. Whatis the synonym of “antidote’ in “‘Jogging is considered an antidote to mental stress’.?
(1) Poisonous (2) Remedy (3) Equivalent (4) Dangerous

3. What is the antonym of ‘transperant’ in ‘The window-glass is transperant’?

(1) Opaque (2) Translucent (3) Susceptible (4) Fragile

4. What is the antonym of ‘unanimous’ in ‘It was a unanimous decision’?

(1) United (2) Partial (3) Compatible (4) Harmonious

5. His mother was American though his father was European.
(1) aa (2) aan (3) an,a (4) an,an

6.  The coordinator was asked to attend the issue and resolve it immediately.
(1) by (2) in
(3) to (4) No preposition required

7.  Either of the roads to Vasantha Nagar.

(1) lead (2) leads (3) haveled (4) areled

8.  Please don’tdisturb me, I the coins now.

(1) havebeen counting (2) count

(3) was counting (4) amcounting
9. Rishi his engineering course by the end of 2017.

(1) will completed (2) complete

(3) will have completed (4) wascompleted
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10. Choose the correctly spelt word from the options given below.
(1) occasional (2) occassional (3) ocasional (4) occational

11.  What is the meaning of underlined idiom in “We would be glad to put you up for a few days
if youwould like to stay”?

(1) tolerate someone (2) build something
(3) provide accommodation (4) contribute something
12. What is the meaning of the underlined phrase in “‘How did you wolf down that pizza so
quickly’?
(1) Toeatgently (2) Toeathungrily
(3) Toeatslowly (4) Toswallow slowly

13. Choose the correct order of the following jumbled sentences into a meaningful paragraph.
(@) Wages will seldom rise in proportion to the rising prices
(b) The problem of food is intimately connect with population, the market is governed by
demand and supply
(c) Without enough food, such people lack health, strength of efficiency and they fall an
easy prey to all sorts of diseases
(d) If too many people demand goods to go round, prices will rise and poor classes will

starve
(1) 1-(c), 2-(d), 3-(a), 4-(b) (2) 1-(d), 2-(c), 3-(b), 4-(a)
(3) 1-(a), 2-(c), 3-(d), 4-(b) (4) 1-(b), 2-(d), 3-(a), 4-(c)
14. Choose the correct order of the following jumbled sentences to make it a meaningful
paragraph.

(@) Adove, perched onanearby tree, saw the ant's danger and dropped a leaf into the water

(b) Once, an ant who had come to drink at a stream fell into the water and was carried
away by the swift current

(c) Hewasaboutto fire when the ant, who was nearby, crawled forward and bit him sharply
onthe ankle

(d) Sometime after this, a hunter, creeping through the bushes, saw the dove asleep, and
took a careful aim with his gun

(1) 1'(d), 2_(0)! 3-(b), 4'(3.) (2) 1'(C), 2-(d), 3'(a)’ 4'(b)

(3) 1_(b)! 2-(3.), 3-(d), 4_(0) (4) 1'(3.), 2-(0), 3'(d)’ 4'(b)
15. Fill in the blank:

Manoj played cricket for two days, he?

(1) did (2) didn’t (3) wasn’t (4) wouldn’t
16. Fill in the blank:

Johnson has not prepared for tomorrow’s exam, he?

(1) isn’t (2) hasn’t (3) has (4) does

Read the following passage and answer the questions from 17-20

It was Germany and France that the first successful attempts were made to produce an internal -
combustion en%ine driven by petrol. In England, people were stran?el timid about horseless
vehicles. English inventors were handicapped by a quaint old law that forbade any such vehicle to
attain a greater speed than four miles an hour, and compelled each one to be preceded by a man

carrying a red flag. This law was not repealed until 1986.
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The earliest motor cars were looked upon as mere jokes, or as rather dangerous playthings, by
everyone except their inventors. Some of them were single-seaters, others would carry two or
even three people; but all were noisy, clumsy, queer-looking things. When in 1888, Carl Benz, a
German, produced a three-wheeled, internal combustion car, a great forward stride had been
made. Another German, whose name, Daimler, is often seen on motor cars to this day, was

experimenting about the same time, and testing a petrol driven engine.

Itis understood how the introduction of the petrol-driven engine revolutionalised road transport
throughout the world. Until then the necessary power to push a vehicle along could not be obtained
without the cumbersome tanks, boilers and furnaces of the steam engine. The internal-combustion
engine is light in weight and small in size by comparison; the fuel is burned in it, so that there is

no waste, like the durty cinders of a coal fire.

17. How did most people regard early motor cars?
(1) Not better than horse-driven engines
(2) A mere joke, or as rather dangerous playthings
(3) A merescientific experiment
(4) Acumbersome vehicle

18. What were all early motor cars?
(1) Aplaything or toy meant for engineers
(2) Avehicle better than horse-driven vehicle
(3) Noisy, clumsy, queer-looking things
(4) Dangerous but beautiful

19. What made the English inventors handicapped?
(1) The general public did not welcome the invention

(2) The quaint old law that forbade any such vehicle to attain a greater than four

miles an hour
(3) Non-availability of adequate fuel power the engine
(4) Awvailability of micro-air vehicles

20. What s incorrect about the internal combustion engine?
(1) fuel burntinitas waste (2) lightinweight
(3) noisyand clumsy (4) smallinsize

21. When you watch India Vs Pakistan Cricket Match Finals, your younger brother asks you to

clear his doubts in Mathematics. How do you respond?
(1) You clear his doubts patiently

(2)  You shout at him for not asking before

(3) Youswitch off TV and go away

(4) Youfeelirritated

S5 R0BIIr Vs FEELS (B3 SrgS IS TV & wsoriigiyiyedo, Do Siooyds 59y 558
KeBgSoo SPES® &) SoBirten BEHH ALy ©&AB I 2o BLY?

(1) 3 o8 doBdren LEy™ OIS
(2) $00038 NoKB WEEB O FTEE WEJE
(B) TV & o8 ddod I e
(4) &% Qoo 50d
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When you see a child facing a problem in understanding an important concept for a long
time , you advise him to

(1) stopreading the subject (2) leave thatsubject forever

(3) take abreak and read itonce again (4) by heart the concept

28 e 28 SPGIE DR0ITQ) @SS BEJoE Qe0d HododHvdd o
Qerodd J0Tt & rendd [ ?

(1) S sDIcB0erS

(2) o $TEO BB BESSGotrSo

(3) FoRo WY WP wd, S0d FIFnowWso0Lrd

(4) ©gomd wo7) af S&ydotrdo

It somebody tries to hurt you intentionally, you should

(1) Retort (2) Cry

(3) Complainto police (4) Ignore

DIVS W) ST TERYEAS @oﬁo@i@noé, DB A0 BASTO?

(1) &x&erd (2) Q=g

(3) &0%8 porgo Basrd (4) BBows Ercsesd

If your friend tells you about his personal problems thinking that you are trustworthy person,

you should

(1) Share it with everyone (2) Feel happy about it

(3) Maintain confidentiality (4) Lookat him with contempt

Q&) Sy A Wrdack 5 B, $5886S dHodgeds IS BB, Sy Jo Basrd?

(1) ©0¢588 & DHETQ) Baryd (2) i wer $Hokd Ho8 RS

(3) o SHrgod HSHNS'I VRETO (4) VTHED weodomr WreEd

Do you produce a wrong evidence to your parents regarding your performance in Exams?
(1) Ido (2) No

(3) Sometimes (4) Depending upon the situation

HOEST A IS Srden sH0m EH3% srored T3 Srdp e ST)osd N
SQBoB0E" Bar)ar?

(1) 3y (2) 3HB (3) oB9Edye (4) Dodond) 28
According to you, ‘Gender Equality” means

(1) Havingwomen reservations

(2) Women are superior to men

(3) Menare superior to women
(4) Havingequal opportunities to both men and women

0 &BI0S “Oorf JIrSE0” ©woB egsn INE?
(1) ssorgs ©8g8 FIs0 EdyouL0

(2) Soore) 8oB edady) 89S

(3) i) 8oB Sorardy 89S

(4) & DODH J8rS VSTTL GoKko
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What does it mean by “Weaker Sections”?

(1) Physically weak (2) Financially weak

(3) Handicapped people (4) People who can’t fight for their rights
‘DOIrd Sooen’ ol

(1) =688 weirdoe (2) wggor wotrdoen

(3) Eeroroen (4) ¢ SEYeEvo Fobo BoLBITH)

You have been waiting for your friend for the past two hours, still he has not yet come. How
do you feel about him?

(1) He does not have time sense

(2) He might be having some problem

(3) If he comes, I will shout at him for the delay

(4) Leaving me alone, he might have gone to somewhere else

QD) Q W) 500 Tow Ko $08 I WrTND), WS T KOS TBD. VY
WE KO0 D WHE0LRITYY?
(1) 88 scwo BwE Jend BOE  (2) IS JdMdgE erhdodoaBar

(3) ok 5, KYM eI (4) &30 6B, 208 2§ GET) IeyBIr!
Do you return the money to the owner, when it fell down from his/her pocket?

(1) Yes,always (2) No,lcan’t

(3) Sometimes (4) Most of the times

Q M el Sg8 BewePod dagyen BolHAS, VP & 5388 QWL ?

(1) gdsoom amd (2) 3% asedo

(3) edyedvd addd (4) s add

When two persons are quarrelling with each other, you will

(1) Runaway fromthere (2) Join one side
(3) Pacify two persons (4) Callpolice
QS Hg8aen FETBB0LT HoBl, WHTE &) oS
(1) o8& S0k roFer (2) 2% 08 S0 Jendrerd
(3) mgd Sg%of vy e (4) >0%% Y
321
2 3 4 n
W @ "~ @ 2 @ +
n(n+1) n n n
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The ratio of two numbers is 3:5 and their H.C.F is 5. Then, their L.C.M is

ok dopgen 315 INBS® GImow $005» A H.C.F (K.3r.e) 5. 0dvdd & dopge
L.C.M (8.3°.%0)

(1) 45 (2) 35 (3) 150 (4) 75

The smallest number which when subtracted by 11 is divisible by 16, 18, 21, 24 and 28 is
28 ogpg Sood 11 BAFDS SSoaees 16, 18, 21, 24 558050 28 ©F rAoHad@ Bopges’
©8 AJ) dopg

(1) 1109 (2) 1119 (3) 1019 (4) 1214

The ages of Aand B are in the ratio 3:5. Ten years later, the ratio of their ages will be 31:45.
Their present ages are (in years)

A 358050 B @), Sadgen 315 AQ8S’ wamon. D8 Jodddne SHard, 570
Sy NES) 31:45 9 HB0h. 0 P 5o (DodS)Gdnes®)
(1) 21,35 (2) 24,40 (3) 18,30 (4) 27,45

Silver and copper are mixed in the ratios 2:5 and 4:7 to prepare two alloys Aand B. Equal
quantities of these alloys A and B are mixed to prepare a third alloy C. The ratio of silver
and copper inC is

215 0800 47 QB oS® Jod 508050 oA EOD A Hodasw B i) Dok &
FS0S0080 SASTHRTE. & S DEFSodnen A, B o dSermen &1 0D Sordd
ST DEHH0 C A Sasrdd Badh. & DFosn C & ad) J0d ook oo N8
(1) 35 (2) 25:52 (3) 25:49 (4) 15:27

A shop keeper reduced the price of sugar by 10%. A person can buy 2 kg more sugar for
Rs.900. The difference between the original price and the reduced price, per kg, is
(in rupees)

08 057rr s Holers 85 10% Shodard. 2.8 $g8 dr. 900 oS* 2 kg © Hosmd
Q&bé F3od. 1 kg dHosms o?mézr Wl I8, éﬁoi’)(‘é YotV 50655 :ég@"’gé:éw
(Srrooee?)

(1) S (2) 6 (3 4 4) 3

In an election between two candidates 80% of the enrolled voters voted. Of these votes,
5% votes were declared invalid. The winning candidate got 32490 votes which is 60% of
the valid votes. The total number of voters enrolled in the election is

20 wIgKe $o¢g BOAS 28 JVESS” Sy @S Lds® 80% Soob &ewn TS, &
328 8¢5 (votes) 5% & D008 57 ¥ AooT . RONS w58 32490 £¢x
Samyon. 28 D0 ©od &8s 60%. @ond, Ingo SIF oS Ll Howg

(1) 75850 (2) 64750
(3) 82500 (4) 71250

8-A



38.

39.

40.

41.

42.

43.

P31

X1 Booklet Code A

Aperson Astarted a business with investment of Rs.3,00,000. A second person B joined A
afterwards with contribution of Rs.4,00,000. If the profit at the end of the year is shared
equally by Aand B, after how many months did B join A?

0.8 3g8 A, a8 g EI0%0 . 3,00,000 33&).)@23(%93‘ @r8odowrdy. Fodstebtn ST
oS $g8 B . 4,00,000 Depacs® AS Borck. DoSETr oS80S S erefdnso A, B

@0 DSBS Hothed, B JQ) Jve g AS Bdadd?
1) 1 (2) 2 3) 3 4) 4

Three individuals A, B, C start a company and contribute a total of Rs.P towards its running.
A contributes Rs.50,000 more than B and B contributes Rs.50,000 more than C. If the
contributions of A, B and C are in the ratio 8:7:6, then P (in rupees) is

S0 Sg8gen A, B, C oo &r. P 0tnds® o8 00 (FSoPowrds. B DES hegad
83y A?Q%:S s & 50,000 289, %, C?Q%Eé s ) B?J%Eé s & 50,000
85, A, B, C 288 égaden 8:7:6 3iy8s® G008, SIS P (8rrosrees?)

(1) 10,50,000 (2) 12,00,000 (3) 13,50,000 (4) 14,00,000

The average of four consecutive numbers A, B, C, D is 55.5. Then, the product BC =
TP S dogpgen A, B, C, Do %Ko 55.5. ©IVE, ©RO BC =

(1) 2580 (2) 3060 (3) 3080 (4) 3660

A cricketer's bowling average is 9.5 runs per wicket. In the next match, he takes 3 wickets

for 19 runs. His bowling average after this match decreases by 0.1 runs. The number of
wickets taken by him before this match is

2§ E506 ¥, TO0R (hOWling) Bt & J8EE 9.5 Bhen. & EHTE oSS’
odl 19 Her ady 3 RIS é’ééog"sgéo. & 00 SHE 0Sd FOoh DKen

0.1 50e0 SRod. & oW S0 wEH 8D Indo I8 dowg
(1) 96 (2) 92 (3) 90 (4) 84

2
A person sold 3 rd of his articles at a profit of 35%. The rest of his articles were sold at a
profit of 23%. The overall percentage of his profit is

2
8 265_% SIPY) :663 ﬁéol J&Hdes* 5 S 0¢85, 35% ergidndso Q—‘DQJ&J"C@J. ARE® S i

23% ereitnds @&)o&mcéo. ©IYE w88 Ingo @&éééooes“ SN &g TS50
(1) 27% (2) 29% (3) 30% 4) 31%

The profit earned by selling an article for Rs.950 is double the loss incurred when the same
article is sold for Rs.650. At what price should the article be sold to make 30% profit?
28 33998 6. 950 S @B SYS oresn, ©F $KHD K. 650 § @B S) S8
B0 Ben. & SHPD 2 $88 008 30% eraSn Sod?

(1) 875 (2) 920 (3) 975 (4) 1025
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1
The simple interest on a sum of money P is = of the principal amount P and the number of

1
years is > of the rate of interest per annum. The interest rate per annum is

1
D) S0y Poodg rodes 5 Pes? =0 o0 @000, Hodakn dodore Dopg I

5%‘6@6‘5 DRS00 ©ow0d. BHYE HoSEEY 5%8&33
1) 6% 2) 5% 3) 4% @) 2%

ABank lends Rs. 3,00,000 to a person A at simple interest 8% and Rs. 2,00,000 to another
person B at simple interest 10% for T years. If the Bank receives an interest of Rs. 1,76,000
at the end of the period, then T = (in years)

08 2080, Al 3588 & 3,00,000 oo ir’:ﬁm‘égé% 8% zS"ZJS(‘S So8csw B o9l S588
. 2,00,000 oS Iy 3G 10% zS"o“Jj(‘é T Sodog)Gbdnese ©IY OB, & oS50

I8 @ond SHard erodoso S». 1,76,000 5% 5, 098 T = (DodhSSnos®)
(1) 5 (2) 4 (3) 3 (4) 2

The amount deposited in a bank for 3 years at the rate of 10% per annum, compounded
yearly is given in List I. In List 1, compound interest is given. Match them

8 27 08e® HoST I8 WESG 10% TH9S 3 DoS)SKneds TS Togsnes HE | &°
Q5cBSD. BIEIZe0 HGF | &° aS@a3d B BEHSLA.

List - 1 List - 11
(@) 20000 (i) 7850
(b) 15000 (i) 3310
(c) 10000 (iii) 4865
(iv) 4965
(v) 6620
Correct match is
HOGS &G
(1) a-v, b-iii, c-ii (2) a-i, b-iv, c-ii
(3) a-v, b-iv, c-ii (4) a-i, b-iv, c-iii

6 men and 8 women can do a work in 40 days. 8 men and 16 women finish the same work in
24 days. In how many days can 10 men and 8 women finish the same work?

28 A B Heo Hoosw 8 Ho0d Yoo 40 SFwed® Frl B, ©F HI 8 Hobd
D0 oo 16 Kook L?_gen 24 Seros® Jro B, @8 A 10 S8 HSdow
$08050 8 $08 Qoo Q) Fwos” o BAL?

1) 16 )" 24 ) 28 4) 30

10-A
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Aperson Acan paint a house in 30 days. Asecond person B can paint the same house in 36
days. Both Aand B work together for 15 days. Then, A goes away. The number of days that
B takes to complete the painting is (in days)

Aol 538 30 Cwres® o8 208 Howod Hohieod. B ol Sodd $58 ©d 2083
36 Seree® wowod Bobhredy. ASdan B agd 02 15 e HAVTH. SHTS
A 39FcSr. DHeHd B g BOSNLWE 530S D030 (Sarerest)

(1) 3 (2) 4 @) 5 (4) 6

A person lefta city P to go to city Q at 6.30 a.m. He travelled at a speed of 90 km/hr for 2
hours and 30 minutes. After that, the speed was reduced to 50 km/hr. If the distance between
the cities is 345 km, at what time did he reach the city Q?

8 g8 6.30 .M & H&eakn P ood Dy Q8 wxchendord. g 90 km/hr 3Kos?
2 fotro 30 JB0RINen PosSrBomrdd. & Shard 3rS0d 50 km/hr 8 Spowrd. e

HEed0e Sy Srdhn 345 km @008, @¢8d Hegeasn Q 8 DDV Dok ?
(1) 10.25am (2) 11.15am (3) 11.24a.m (4) 11.50a.m

Atrain 80 meters long is running at a speed of 80 km/hr. The time that the train will take to
pass a platform of length 120 meters is (in seconds)

w8 80 oty Fdordiew 28 Beo 80 kKM/hr SKo&® HERGSKE. & Beo 120 doed

P Ko wf Penardo (platform) &o @entodd 3°H0RS HB0c S0 (?oéogeS‘)
(1) 6.5 (2) 85 3) 9.9 4 9

a and B are the roots of the quadratic equation px? +gx+r =0. Match the items in List
I and List I

58 H20885n PX°+UX+T =0 Gng) Sorores o 080 . HGE | So8awo H&E I
S* S B 3SHTWoa.

List- 1 List- 11
5% - | 5% - I
1.1 g -2pr
@ o Ol
a B . gP+2pr
_+_ . S
®) 5t (i)
2
—2pr
© o+ p? (i) S
. q
(iv) T

Correct match is
689_39(‘6 2368
(1) a-iv, b-iii,c-i  (2) a-iv, b-ii, c-iii  (3) a-i, b-iii,c-iv  (4) a-ii, b-iv, c-iii

11-A
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Three cubes with sides in the ratio 3:4:5 are melted to form a single cube whose diagonal
is 18+/3 cm. The sides of the cubes are (in cm)

3:4:5 2)BS® ehadows Ho Lird Hsdvod E8A0d, 18V3 E¥o Ko e HoBsw

SOSTBO0DEID. & HSSne ghHadnen (Do.dows?)
(1) 3,4,5 2) 6,8,10 3) 9,12,15 4) 12,16, 20

Aladder which is touching the top of a pole makes an angle 60° with the floor. Its lower end
is at a distance of 4 meters from the pole. The length of the ladder is (in meters)

w8 20 P08 & &) o8 IFS I8 60° Sl DIAod. ¥ IFS Bod &S

RoFH0SK 4 e SrdSnG’ GHB. & IFS B0E, FEH (LIS’
(1) 6 (2) 8 3) 9 (4) 10

V1225 +4/0.0615+ X =35.25 = X =
(1) 0.001 (2) 0.0001 (3) 0.02 (4) 0.01

If 2a=3b=4cand a+b+c=2661, then \/32 1 p2 4 ¢c2 =
2a = 3b = 4 o0, 506050 a+b+C=26161, @003, @dYe a2 +h? ¢l =

(1) 144 (2) 361 (3) 104 (4) 122
The dimensions of kinetic energy is same as that of

(1) Force (2) Work (3) Momentum (4) Velocity
KBuEE Bng) H0Sresnw & Bod TAST AVE HIrSS0m wocoo

(1) =0 (2) 3 (3) ($Sgaeo (4) 3o

The instrument used to measure sounds under water is
(1) Hygrometer  (2) Hydrophone  (3) Hypsometer (4) Gramaphone

Qe3eSt Geo0d) Eentheasd GIHRFA0T HBEESN
(1) s (2) TEPS (3) e 4) RS

Convert 10 inches into kilometers
28 (10) worererd §e5‘5§)oéocc§>e5‘5<‘0§ S8y
(1) 254 x 1073 (2) 2.54x104 (3) 2.54x104 (4) 25.4x104

A monochromatic radiation was beamed on a distant planet from Earth and the reflection
was received after seven minutes. If the velocity of the signal is 3x108 m/s, then the distance
between the Earth and Planet in meters is

08 IS ESris TADoANKH o S0d Srddnm el {ron 8dwdoso (beam)
VTR, 08 HoBISS0 Tod A ADre SHad VOSH. wEIE S BwE), Ko
3x10% m/s & 0B, &y $98050 (ro Sogy ) ErEsn obrdes®

(1) 3.15x108 (2) 3x1010 (3) 6.3x1010 (4) 3.15x 1010
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60. The value of Planck’s constant in Sl units is
Sl ofmo:oges‘ 0§ Joroso (Planck’s constant) Qens

(1) 6.62x10°34Js (2) 6x10%Js
(3) 10x10% M1 (4) 8.314x1077]
61. Which of the following is not an antibiotic
(1) Erythromycin (2) Tetracycline
(3) Oxytocin (4) Ofloxacin
& 808 WK 8BS I8 Brodairid§ 50
(1) VS0 (2) BErpss
(3) ©§)e5®>s (4) 2Fs)DS
62. Chemical name of Dry Ice is
(1) SolidH,0 (2) Solid O (3) SolidCaCO; (4) SolidCO,
& PR RVE), ST Trdoo
(1) %3 H,O (2) %8 O3 (3) 085 CaCO4 (4) D08 CO,
63. Which one of the following atmospheric layers help in radio communications
(1) Troposphere (2) lonosphere
(3) Stratosphere (4) Mesosphere
& 808 0K TeHdn FPEOST A& VART E305gABAR DFFaHES0E
(1) @'aRyoss (2) wosSTRYHE
(3) ([ T&RYo0s (4) doRRyS

64. Among the elements given below, which one has the highest electronegativity
& 808 08K Soroines” B8 08 JEH w0dBgEEIES Sok
1) ci (2) Br (3 O () N

65. For an endothermic reaction where AH respresents the enthalpy of the reaction, the
minimum value of the activation energy will be

28 GRTTE SE3S° D05rd) BE) $8g AH 0 580055 828 §§ B0g) ©8& $59
Qs (minimum value) e ool

(1) <AH (2) =AH (3) >AH (4) Zero (20&))
66. Arrange the following atmospheric layers in the correct order from bottom to top

A) Exosphere B) Troposphere

C) Stratosphere D) Mesosphere

& 808 0EYS) TeSde FEol Bod Kok P8 ¥BS EHB0S" GYEESE0
A IEYE B) @ayons C) Fetyons D) dodskyeis
(1) ABCD (2) B,C,D,A 3) C,DAB (4) D,AB,C
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68.

69.

70.
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The term “Dark Fermentation” means

(1) amethod to reduce CO, in the atmosphere

(2) amethod to produce hydrogen as fuel from waste water
(3) amethod to dispose nuclear waste

(4) amethod to produce methane from organic waste

‘@8, 38o8AS” (Dark Fermentation) edme

(1) Tesddasns’ COp& $hodl Jrdsn

(2) Sggmeo od TIFEI8 08 20EID0 ErdINS” & T I35
(3) Srg8od $5TrR) $HO0WHT I

(4) ook Hggsn $r0b NBIK wEG T I EH0

Which of the following is correct for Carbon Monoxide

A) Itis produced in the human body

B) Ithelpsintreating sickle cell anaemia

C) Itacts as aneurotransmitter

(1) A,BandC (2) Aonly (3) AandC (4) Conly
ShHS IrT &8 Dowodod & 8ol "3357;(‘6‘)1 FES® 358 26

A) 08 S35 $8850S" w8 @S

B) o8& 285 S Aasrds D8L) Bosndats H%a%Hdad

C) o6 a8 SrgfErqed orm HABVasdd

(1) A,/ BX0dasnC (2) AlegRo

(3) ASBsnC (4) C3»e

Biological oxygen demand indicates

(1) Highlevel of microbial pollution (2) Low level of microbial pollution

(3) Absence of any pollution (4) Water is highly pure

20HorRdS v d3rok BAY Jrd%0d?

(1) s Fon drfEIo seodgdndd (2) S5 Fon SrfHiEPo sToodgsndd
(3) NewHod stendgsn BEFYHL (4) % @8 I8

Carbon credit is

(1) the difference between the carbon emission allowed and actually emitted

(2) aloangiven by aBank

(3) ameasure of high quality of living standard
(4) the amount of carbon in water

S8R B&E vl

(1) 8508008 5°E)S IQUESE 508050 FYHom A BRI TEHILH &) Sgavgdo
(2) o8 ergodo ad)S &'

3) =8 PFon Tegd SIS RIS PIrwo Seoudés

(4) ABS® 08 HS &G OB
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72.

73.

74.

75.

76.

77,

P31

X1 Booklet Code

Which hormone is responsible for stress, anger and high BP

(1) Oxytocin (2) Thyroxin

(3) Adrenaline (4) Galanin

288, 5050 Ho0ak0 YD OV I FEYS erdgd Sardgod?

(1) 85" (2) 3§ 3) &0 (4) Kol
Which of the following is known as animal starch

(1) Cellulose (2) Glycogen (3) Chitin (4) Pectin
& 808 8BS BA 2o o) wotrdd

(1) eoges®™ (2) as=s (3) 38 (4) =8
In RNA, nucleotides are attached by

(1) Peptide bonds (2) Hydrogen bonds

(3) lonicbonds (4) Phosphodiester bonds

RNA &° $rg8Br88) GA8° 50858 erotron

(1) 33';’,@35 2050 (2) T &ss womren

(3) wA5rIE wogren 4) FINBIHE worren

The universal acceptor blood group is
28 BrISGHS RS bk Y

(1) O (2 A (3) B (4) AB*
The largest organ in human body is

(1) Brain (2) Heart (3) Skin (4) Liver
5788 0S50S’ @8 g wSaso

(1) s (2) Koz (3) W0 (4) s8Bo%o

Find the next number in the series

& @FBS° e 5y dopgdy EHFI0s
0, 3,8, 15, 24,

(1) 36 (2) 35 (3) 34 (4) 33

Find the number in the place of question mark (?)
BIEESD (?) T GoddedS dopgdy ESod

1) 21 (2) 22 (3) 29 (4) 20
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78.

79.

80.

81.
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Find the next number in the series

& @FBS° S 5y dopgdy EHFI0s

1,1,2,3,5,8,

(1) 13 (2) 15 3) 19 4 21

Find the missing number in the series

& @F35° S*00AS (79e5°Q) dopgdd EFTSod

9,25,49, 169

(1) 100 (2) 121 (3) 64 (4) 144

Observe the figures given below. Fill the place with question mark (?) with suitable number
808 dHrdwed H8300D RHTEESN (?) T GodSodS Hopgs EHFSod

2 3 4 6 5 ?
9 4 36 16 49 | 25
(1) 6 (2 5 Q@) 7 (4) 9

Observe the following figures and find out the values of P, Q
& 808 JLdned H08390D, P, Q o denden EHFSod

A AN

(1) 4,8 (2) 57 (3) 5,6 4) 4,7
82. Find the next number in the series

& @BS° S 5y dopgdy EHFI0s

3,10, 24, 45,

(1) 60 (2) 84 (3) 73 4) 76
Observe the following information on viewership English
of TV Channels, pertaining to families of an Hindi )
apartment, and answer the questions from83t085. s, 4 ERIHEY

28 WPGI0LNS' Kotwoere T dgow TV AVA

TR0 DT 0 H582900 83 Kood 85 S8 Ko

WHe ddrgrdsneds HgoKod v Telugu
S0

P31
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83.

84.

85.

86.

87.

88.

89.

90.

P31
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How many families watch Telugu channels?
80 TIG)K Vo Kotwoere Howg Do?
1) 6 (2 8 (3) 12 4 14

How many families watch English channels?
200 TIG)K Vg0 Sotwoere Dopg Jo?
1) 14 2 21 3) 17 4 7

How many families watch both Hindi and Telugu channels?
08 HoBosn e TIGP Bo&oiA V8o Sotnowre Hopg Dod?
1) 6 (2 4 3 7 4) 17

If Red is called Yellow, Yellow is called Green, Green is called Blue, Blue is called Pink,
then usually leaves colour will be

(1) Green (2) Pink (3) Yellow (4) Blue

2ERE AP0 DY DT, HR0Y) DB BHDHT, $BDEH)K dOomrsd, Jwoid
o) ooy @S8008, Jrgrdmonm esioen & oKe® oo

(1) e85 (2) Koerd Soid

(3) Doy HF) (4) Qoo

If UMBRELLA is coded as VLCQFKMZ, then JUSTICE is coded as
283¢ UMBRELLA & VLCQFKMZ r o7%, JUSTICE o3 $o°d) 9 703

(1) KSSTJBF (2) KTTSICF
(3) KTTSIBF (4) KTSSIAF

If TBDIJO is coded for SACHIN, then which of the following words is coded as IZVOEBJ

2.§3¢ TBDIO o SACHIN & §6m 0%, IZVOEBI & 9 55708 §6m $r00858n?
(1) SAMURAI (2) MARUTHI
(3) HYUNDAI (4) CRICKET

If TEN, GANG and MEAT are coded as 439, 6596 and 1354 respectively, then how is
MANAGEMENT coded?

2.83¢ TEN, GANG 208050 MEAT o3 dmrod $&dm 439, 6596 S0dasn 1354

50%, MANAGEMENT o3 $ord) dor 67082607
(1) 1595363194 (2) 1595313694
(3) 1595361934 (4) 1595631394

If 15t April of year falls on Sunday, what is the day on 151 August of the same year?
(1) Monday (2) Tuesday (3) Wednesday (4) Thursday

w8 D0SHBI0 RS wiLS BOS SOHTEIN wod & JosB)THn ey 155 86 o
&erd 333087
(1) &BoarsSn (2) Sookgarsdn  (3) ewgarddoo (4) KoSarssm
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91.

92.

93.

94.

95.

96.

P31
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15 August, 2016 falls on Monday, what is the day on 151 August, 20177
(1) Monday (2) Wednesday

(3) Sunday (4) Tuesday

15 esidy 2016 &2l Foardo wond 15 ey 20173 Q &2 ©H)008?
(1) Soargdo (2) engarsSon

3) wdaES0 (4) SooNgTEB0

Secretary has arrived at 10.10 am, 30 minutes before chairperson. Chairperson arrived
10 minutes late to the scheduled meeting. When is meeting scheduled?

208 DITIFI0I8 HPedHese DELOS 10.10 am s 5:3:)(53. 90308 é&éq\)S go&
30 doiren H0okd S, BE HHIMTDH PR RT ] &)gé 50058 10 D.e0 esedgomr
Sah. HEHY DGE docHBN Jos?

(1) 10.40am (2) 10.10am
(3) 10.30am (4) 10.20am

Shankar is 8™ from top and 24" from last in his class. How many students should be added
to make the strength 40?

F088 &8 SSHBS” 008l o0& 85 FI0S™o VS8 od 245 FIoS™o eId. ©
SEK8S° Ingo darghe dopg 40 GomwoB K08 Jod Hod ITgHOH Eenrd?
(1) 8 (2 9 (3) 10 (4) 16

AGirl travels 6 km and takes left, further travels 8 km. What is the straight distance to that
position, from the starting point?

28 @370 2.8 BBYS® 6 8.0, SEAI ST S %S0 BOA K088 8 8.2, HAITBoNSST,
@S850 6 G PIIE Ho0AN B wOHTBBS T A8 G drdo Jog?
(1) 12km (2) 10km (3) 9km (4) 14km

When a clock is showing 10 ‘O’ clock, the hours hand is showing north direction. At what
time does the hours hand show ‘southwest’?

$&asrso 10.00 d5oc%0 JordoRSYR Kobew Sney dE 8F I PR, @ DTS
fote Sven 32208 (south-west) &3S SrHdy08?
(1) 5:15 (2) 5:30 (3) 4:00 (4) 4:30

Observe the sequence given and find out how many letters are immediately followed by a
number and preceded by a symbol?

2SBS0 H8390D, Q) WETew T S0k 28 DRI BB SHTE 2.8
©08d EOA & IR HYowod

M*K5L*N3X?P4*LM%N 4
(1) 2 (2) 3 (3) 4 (4) 5
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Three engineers P, Q, R are designing a project. Can we find out in how much time all the
three engineers will complete the designing, observing the following statements?

. P &Q cancomplete the design in 2 months

II. Q&R cancomplete the design in 1¥2 months

lll. P &R can complete the design in 3 months.

(1) 1 & Ilaresufficient (2) I, 11 &Illare sufficient

(3) I, I & lllare insufficient (4) 1&1laresufficient

P, Q, R o3 S0/ 20208 o8 (raghd GBS Do, & 8od wEbded H08d0d,
& S0 2028 & HID AQ) Cwes® Fo DL EHOFSIWT?

. PSo0dcsn Qed Bok Jves® dBS g B3

Il Q08050 R8BS Svos® B g B

. P %8030 R eo Sordo IS ABIS o B

(1) 1508050 Il 08 E50m 3580 (2) 1, 1508050 llled® §50/r 8580y

(3) I, 1508050 Il ©8° 5038500 (4) 1508050 ll 08 50 S5u8)S0

Study the data given and answer the questions 98 to 100 based on the same.

Six friends A, B, C, D, E and F are sitting on the corners (vertices) of a Hexagon shaped table, all
facing towards centre. ‘A’ sits between F and C. D is on the second right of B and is the immediate
neighbour of C.

Bod NS $8207°Q) H83O0D 98 Joo&k 100 8% Ko PHB 2 QOB0Y

NS Dghven A, B, C, D, E 558050 Fen 2.8 G2 e57do o 20 Sireo (%’U:loo) SKs
53653& IAOLLL éréot)mgd). F 38050 C o 26365556 A @&Qazcéo. B % BBIY Boks ardo
D 08050 D 8§ 9§38 C ewamik.

98.

99.

100.

101.

P31

Who sits exactly opposite to E ?
E & pd)dormr Qs Q38 §rdy)ans?
(1) D (2) C (3 B 4) A

Who are the two immediate neighbours of ‘B’?
B % 260390 &f) 28 I56H?
(1) EandD (2) FandE (3) CandB (4) AandD

Who is sitting on the side exactly opposite to ‘D’ ?
D % pdydorr dcodm d38 Erdy)ams?

(1 F (2) B @) A (4) C
Atwhich Indus valley site maximum wells were discovered?
(1) Harappa (2) Mohenjodaro (3) Dholavira (4) Kalibangan
0G0 TROESE BodS @ PIFS0S® wEgHEOMT rHed §508H) &I 00?
(1) &gy (2) oo’
(3) Fodo (4) 592048
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103.
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Given below are two statements one labelled as Assertion (A) and other labelled as
Reason (R):
Assertion (A) :  Iron technology played a crucial role in the expansion of the Aryans into
the Gangetic Valley.
Reason (R):  The Gangetic valley had thick vegetation which could be cleared only by
implements of strong metal
The correct answer is :
(1) Both (A)and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3) (A)istrue but (R) is false
(4) (A)isfalse but (R) is true
& 808 2502068 Tocy TrEgnen 288 WIS (A) Sot sEdw (R)
B8FES (A): sdgen Homrss (FodSnds IBBotEos” add o888 Hdaso
30pgBo00S TG SiroRod.
s8=0 (R): KOs HOTE (Fodooee $&5000d wdngo odod. &) 0RO
S DASNYSE® SrBd SORETAE DePHBod.
BOFIS DSrEHS0
(1) (A) 2008050 (R) @0 Bodr dezo S08030 (A) 8 (R) 28@o0nd D58
(2) (A) 08030 (R) @0 Bodr dzzo. 570 (A) & (R) 08wond 580 5760
(3) (A) d=o (R) 85y
(4) (A) 853 (R) dzo
Read the following and identify the wrong one.
(1) Buddha gave his first sermon on deliverance from suffering to his five former
companions in adeer park near Benaras
(2) The ultimate goal of the Buddha's teachings were the attainment of 'Nibbana' i.e,
liberation from the cycle of birth and death
(3) Buddhist nuns strictly avoid following; theft, sexual activity, lying, use of intoxicants,
eating after midday, attending entertainments, use of perfumes and jewellery
(4) Buddhist texts reflect revolutionary ideas about women and stressed that women should
have freedom to shape her life and personality

8o Trgdined’ d8 H0wood 57K

(1) SrdY0 wrdoss 57600 o s 9 IL000P S8 FLYBEL JoBTR) W
B85 oS Yoy STWHOB BIED DAHINS® Ko Bode FEYS” DIDOBI

(2) 2060 Boog) JrBdnw ©085 &FFo VI’ FHotdo OIS BIS Soderen
O3 BEo So0d DB0EI Foddo

(3) TEHs agdoeo (NUNS) & Bod TBI FEm Sgeotdocsnd. ©d IS :
&oRESH0, %Qomééooejf TS0, @a:go B0, S0y éwgzﬁom b0, Bogrgim)o
Sooge eteio BoSado, JRoFIIrost000s Yoo T EEo, 83 22870
§6§§@ém0§3 SrEomr &oddo 08030 egigndned $dotsdo

(4) FEH8 Hodsdnen Qo DROBNS’ YT S L0008 TEINOL §§ womon. Sk
Roo®), EAHRgEM, $58B08080 AGo0WHD ©HEEBH0 [f’_op? ©d LB ow.
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104. Which of the following text does not come under Sruti literature

105.

106.

P31

(1) Brahmanas

(2) \Wedangas

(3) Aranyakas

(4) Upanishads

& 1808 TS @ oo #)B T°x000S” grfo s

(1) rdrymoe

Match the following

List - |

(Ashoka's minor rock edicts)
Rajula Mandagiri

Brahmagiri

Nittur

Rupnath

& 1808 T BEHEE5
N - |

(2) IzrorBooen

(9950 R0, DI6 8 FISS0en)

orere HodAd

(CSESYLe

(c) 5

d) &rdHas

The correct answer is

BOFIS HIFEEIN
@ @® () @

Q) i i i v

(3) iii iv [ ii

Match the following

List - I (Authors)

ILangovadigal

Sattanar

Ti ruvalluvqr
Nathamuni

& 808 T BEHSBIBW
e - | (ESond)
QROONIRKS

186

(€) &dSoras

(d) &g300

The correct answer is
BOFIS HIFEEIN

@ ® (© @
Q) i il v
3) v i [ i

(@)
(b)

(a)
(b)

21-A

(3)

(i)

(i)
(iii)
(iv)

(i)

(if)
(iii)
(iv)

©8eagsoen (4) &3R80

List - 1l

(Its present location)

Chitradurga district, Karnataka
Bellary district, Karnataka
Jabalpur district, Madhya Pradesh
Kurnool district, Andhra Pradesh

e - |l

(De3 Ro¥), @éé)é \rogo)
DSES Bex, st
Berd 2oy, §q;<b§
2056 BT, :63653@8%
E6mS 2er, SoFRAT

@ ® «© @
ii [ I v

iv i i ii

List - Il (Texts)
Manimeklai
Silappadikaram

Nalayira Divya Prabandam
Tirukkural

da - 1 (Koggswn)
R RS
%’oiﬁg&s*’do

Seoonor &53 K080
8EEY S

@ ® © @
i i iV

i [ v ii
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108.

109.

110.

111.
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Identify the wrong pair

(1) Chera-Bow (2) Chola-Tiger (3) Pandya-Fish  (4) Pallava-Peacock
& 1808 TS DB HBWONS 2&F KD

(1) BS-2exn (2) S*¢-HO (3) rocig-Bd (4) H5-3%00

Arrange the following Ayurvedic doctors in a chronological order according to their
existence

a) Jivaka b)  Vagbhata c) Sushruta d) Charaka
& (808 905058 IEogoiy T V0N e e ESrSHSEom FPasnH0
8 &%k b) Syt C) Dbk d) S8

(1) dabec (2) cbda 3 acdhb (4) bdac

The early Sathavahana coins were discovered at

(1) Kaotilingala (2) Paithan (3) Nashik (4) Dulikatta
SO TEIIT0O B0 o)éz’_é oaﬁgéoooomooo
(1) s'€domro (2) Do (3) o8& (4) s>98y
In which language many Kanishka coins and inscriptions are available
(1) Prakritalanguage (2) Bactrian language
(3) Greek language (4) Afghani language
EAQ By, TBH0ed $0030 THSH0 EYIT @ PAS® eegHPHTon
(1) &8s oA (2) erfoS ol (3) B8 i (4) o3 ¥
Match the following
List - | List - Il
(wars) (year)
(@) First Tarain war (i) 1191
(b) Khanuawar (i) 1576
(c) Talikotawar (ii) 1565
(d) Haldighati war (iv) 1527
808 TR BSEHBHTIBE0
e - | e -
(oﬁoocééoaoo) (DoSe)E80)
() oo Sorond asngo (i) 1191
(b)  sresg oSogio (i) 1576
(c) S8 aSngo (iii) 1565
(d) SPgmE oo (iv) 1527

The correct answer is
DOFRS DJrerS B0

@ ® (© @ @ ® (© (@
Q) i v Il (2) i v il i
(3) iii i [ v 4) v iii i [
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112. Which one of the following statement is not correct about Vijayanagara period?

(1)

(2)

(3)
(4)

Abdur Razak, a Persian traveller observed about city of Vijaynagar “the city of
‘Beejanagaur’ is such that the eyes has not seen nor the ear heard of any place resembles
itin the whole world”.

Krishnadevaraya though a follower of Vaishnavism, treated shaivites, Jains, Christians
and Jews with kindness and compassion

Irugappa, the general and minister of Harihara Il authored ‘Nanapatharatnamala’
According to ‘Rayavachakamu’ there are five kinds of forts in Vijayanagara kindom:
giridurga, staladurga, Jaladurga, vanadurgaand parvatadurga

& 1808 T°AS® D FTPgH0 DRADSKED0SE H000H0N ¥B WoNEE 5

(1) 838 Sro@8okond wend $ef JechdrdHnS K28y IS0/ “HaSKrs Hiyeo
o8 TQ) HOTINS® IH.E SrEBED ISBE @IovONTE”

(2) ERVHorafen JPSHE505 ©500D0NSH)BE FHod, B, 39 S8
oVt O LIAST DN mé(\)@goé‘ SEARS I nsle S

(3) TodS 0L FE), DTHIS ©od QKDY ‘TIHS SHHIre’ @ oS
eTATCIN I

(4) ‘oo’ @560 DBCHSKS Tregos” o K B oi. B8 AbMEHMeD,

RO $r8B0en, BOGEHR0, H3GEINV F08a80 DI BrdBnen

113. Match the following
List - | List - 1l
(Kingdom) (Ruling Dynasty)
(@ Ahmednagar (1)  Adil shahis
(b) Berar (i) Nizam shahis
(c) Bijapur (ii1) Imad shahis
(d) Golkonda (iv) Qutub shahis
& 808 T BEHSEIBN
e - | e -
(G"aago) (5830 So%0)
(@) o &8K6 (i) @68 Tireo
(b) BoeE (i) Qe roren
() DerHyrs (iii) 9358 areren
(d) Aeod (iv) 88 rbren
The correct answer is
BOFIS HIFEEIN
@ ® (© @
(1) i i i v
2 v [ ii iii
3) i iii [ iv
(4) il ii [ iv
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Name the Medieval Sultan who imposed a ban on “Sati’ condemning itas an unfair practice

(1) Balban (2) Alauddin Khilji

(3) Muhammad bin Tughlaq (4) Firuzshah Tughlaq

Soggasnro e Q 20O D8 eI EB0NL HTE G oD JNHoBK

(1) ereoe (2) verads 99

() &S s (4) &> i

Which one of the following temple have erotic sculptures in large number

(1) RamappaTemple (2) Konark Temple

(3) Pattadikal Virupaksha Temple (4) Brihadishvara Temple

& 808 BooHineS® FIS® NECIRNY ‘KI"CSQJQDES)K) Foms B0AKOE Er&S DG BaSoen S
(1) orody Baredho (2) Sewrf) Boredho

(3) DLEES Socd Ho JErrg Barewodo (4) a)rdis Boroco

Assertion (A) : The Mughal emperors had complete sovereignty, not only internally but
also externally

Reason (R):  They refused to recognise any external authority like the Caliph as their
superior

The correct answer is:

(1) (A)and (R)are true (R) is the correct explanation of (A)

(2) (A)and (R)are true (R) is not the correct explanation of (A)

(3) (A)istrue but (R) is false

(4) (A)isfalse but (R) is true

W8FES (A): @odddornr 577, erirgorr M I00S Foired Fr FEF e b0
89 w8

580 (R): D& D56 Soomgon PO B0, WHSEBK KHGoEBE

SOGS HIFTBEE0:

(1) (A) 208050 (R) dezo 08050 (R) (A) 88 $58 @ond 58

(2) (A) 208050 (R) 3ok dezo. 570 (R) 88 (A) 28008 58 570

(3) (A) dzo 5 (R) 82y

(4) (A) 833 52 (R) deo

Which one of the following fort was not conquered by Shivaji from Bijapur

(1) Raigarh (2) Javali (3) Kondana (4) Torna

& 1808 T8S® D Bl 3578, DY od BEoWB

(1) oroSK& (2) =359 (3) Fo&s (4) &6

The first telegraphic line introdued by Lord Dalhousie in 1853 ran between

(1) Bombayand Thana (2) Calcuttaand Madras

(3) Bombay and Madras (4) Calcuttaand Agra

1853¢5° S5 trgd WRFRLdS So88Ke (telegraphic line) €8od oo Koy ST o
(1) =02 085w Frar (2) Boda L0850 TR

(3) eroB Bodasn LT (4) Bode S00a50 e

24-A
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119. After observing the early Indian National Congress activities who said that “The Congress

is nothing but a three day thamasha”

(1) Dadabai Naoroji
(3) LalalLajpatRai

(2)
(4)

Ashwini Kumar Datta
Aurobindo Ghosh

wPo rdd B STORD B FOTE SEgENENOM HD0D "SR WoB Kk
o SSrar 9) 506 527 ©d &I

(1) ooreron I&°=

(3)

SPPOBIS T°ON

120.

(2)
(4)

03 Hodrd Sa
©8Do& Kt

Which one of the following statements is wrong about ‘satyagraha’

(1) Satyagraha considered as ‘Love Force” and “Soul force’

(2) Satyagrahaconceived as a weapons of the weak

(3) Satyagraha conceived as a weapons of the strong

(4) The aim of the satyagraha is the conversion of the opponent by self suffering

& 800 DEPEHOS® IO JSGHTrE0SE Howofod VB Wood 57K

(1)
(2)
(3)
(4)

121.
(1) Indur

$°ES Yo oo AAE3?
(1) 2086 (2) oot

122. Match the following

(@) Halika

(b) Kolika

(c) Kularika

(d) Vadhika

8 808 AN 2HDHEWRN0
(@ %08

(b) so%

(c) soodd

(d) 6%

The correct answer is
BOFIS HIFEEIN
(1) a-ii, b-iii, c-iv, d-i
(3) a-iii, b-iv, c-ii, d-i

P31

What is the original name of Bodhan
(2) Andhaka

25-A

(3)
(3)

deEgidro ©oB (D’ $80kn ‘wodord) & onoEo
é@"’g@(f"o podrdie o?mézj 030080
é@"’g@(f"o pOSoHho o‘:‘mézj 030080
dergfiro Rog), ®RI0 25008 SI8E D B RSP BTV St

Mulaka (4) Podana

NOISHS (4) 88

Carpenter
Cultivator
Weaver
Potter

Sgon
SIRSTSCNSIaple T S
ISHIT S0
§o:§o&6

a-1, b-ii, c-iii, d-iv
a-v, b-i, c-iii, d-ii
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125.

126.

127.

128.

129.
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At which place in Telangana large number of Roman coins were found.

(1) Keesara (2) Chaitanyapuri (3) Gutiparthi (4) Saleshwaram
BOOMRS™ J PAFIS’ DEING0S® FHon T BBV OHDLYBI 00

(1) 835 (2) BSS5gH (3) Koe3Hs (4) 8880
In Ancient period which one of the following Rivers was called ‘Telivaha’

(1) Krishna (2) Godavari (3) Manjira (4) Musi
RS 5700S° & 8§08 SH0S® A& BOFTH M HenS0&0H?

(1) (2) A= (3) Soooe (4)  Sord
Who was the author of the text “Kavijanashrayam”?

(1) Somadeva Suri (2) Pampa

(3) MalliyaRechana (4) Satyasraya

BT F000” (Kol SWond I58?

(1) 3¥BI38  (2) Hod (3) $09cH BSS  (4) DergEod

Bawari from NorthernTelangana was converted to Buddhism and he was the earliest to
propagate it. Which one of the following text mentions about him?

(1) Suttanipata (2) Kalachakra

(3) Gadhasaptasati (4) Kathasarithasagara

& 48 Boomni BodS oS0 FEH Q) 880D AN dgn WO E. 8o K800 &
808 Komrods® A& SeyE08?

(1) o83 (2) soxE (3) M d33%8 (4) Szdeeyss
Which one of the following was called Sultanpur during the medieval period?

(1) Karimnagar (2) Warangal (3) Nizamabad (4) Medak

$0¢g BRmTeS® &% 808 IS B DoerSHrsm Dendadod

(1) 860385 (2) 38085 3) Qerdrerd (4) &5

Which one of the following Dynasty introduced the Ayagar System in Village Administration?
(1) Satavahanas (2) WVishnukudis  (3) lkshvakus (4) Kakatiyas

& 808 Trar H0TOS’ IV (T WIS’ BoHTS ITT) PRFDETEH

(1) wgasloon  (2) dysoden (3) aszgsoen (4) sg&osoen

Where did the Battle between the Kakatiya armies and Jampanna, the son of Sarakka took
place?

(1) Dayyalamadugu (2) Muzzampalli
(3) Manchukonda (4) Dharmaram
8B Emgoé\a S0803%0 @vcfézr Bodoe oo aoo“a(‘écléb :63655 oﬁwgo (Dézjcé 2808
(1) Sosrge Sockoih (2) S0Fodd
(3) Hoowosods (4) &omygo
26-A
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131.

132.

133.
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Match the following :

(@) RelaDance (i) Kondagattujatara
(b) Gusadi Dance (i) Limbadrigutta
(c) Mutyampeta (i) Koyas

(d) Bhimgal (iv) Gonds

& 808 T°AJ 2SDEYS0

(@) Beor SyEgo () Fodkrey =sd
(b) Kr>rs Sysg0 (i) ©oerBioy

(c) Sowoggowe (iii) 8asoen

(d) HKS (iv) Aodoen

The correct answer is
BOFIS HIFEEIN

(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii

(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i
According to which inscription ‘Rudraveda’ was called as “vinayabushana’

(1) Hanumakonda Inscription (2) Mallapur Inscription

(3) Tripurantakam Inscription (4) Draksharama Inscription

Q TH30 HISBYHA DX erhendd’ ¥ BenHBood

(1) SodoFod 380 (2) Soerré TdSo

(3) ®JHorosso IS0 (4) @z TdS0

The Perini dance performed by women for the pleasure of man was known as
(1) Lasyam (2) Ramyam (3) Bhogam (4) Rasamayam
HED08 JoodTRoheo §do @m VD 2B $)o°gQ) AH0erdd

(1) erdgo (2) &dogo (3) =Ko (4) 350080
Match the following :

(@) BayyaramTank (i) Jagadala Mummada

(b) PakalaTank (i) Prolaraju |

(c) Kesamudram Tank (iii) Mailamba

(d) Nagasamudram Tank (iv) Nagambika

& 808 A 2SDEYS0

(@) 2dSrgso VY () =dare S080y8

(b) rsro B (1) o0& | Feorer

(c) 33dno KD (iif) Soeroe

(d) SR80S0 BSD (iv) &mods

The correct answer is

BOFIS HIFEEIN

(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-i, c-ii, d-iv (4) a-iv, b-iii, c-i, d-ii

27-A
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134. Which of the following Diamond Mine locations is wrongly Matched

(1) Kolluru - Guntur District (2) Paritala - Krishna District

(3) Vajrakarur - Chittoor District (4) Gandikota- Kadapa

& 800 Sre Ko PWiTLS® I8 YT BEHHWE

(1) Tord -hotwrdd eer (2) Dobre - Eyr =

(3) BrEsrs - QSR e (4) KodSe - 8%
135. During the Qutub Shahi period which of the following place was famous for Indigo

production

(1) Kolar (2) Nagulavancha (3) Nizamabad (4) Mantena

LSBT HBTFOSTO0S & 808 FEST B D Kok wE)BE BIY Bokod

(1) &b (2) oo (3) Jderdscerd (4) 0085
136. Match the following :

(@) Sivadevayya (i) Pratapacharitramu

(b) Ekamranatha (i) Nirostya Ramayanam

(c) Manchana (iii) Purushartasaram

(d) Shakalyamalla (iv) Keyurabahu Charitra

& 808 T°AJ 2SDEYS0

(@) @$BHasog (i) Bed sogo

(b) s Boaegocss (il) &%y ordrodero

(c) Soowss (i) DTG F>do

(d) sy (iv) Scdarderdo €o|E

The correct answer is
BOFIS HIFEIN

(1) a-ii, b-iii, c-i, d-iv (2) a-iv, b-ii, c-iii, d-i

(3) a-iii, b-i, c-iv, d-ii (4) a-iii, b-ii, c-i, d-iv
137. Arrange the following in chronological order

(@) Sikander Jah (b) Mir Mahabub Ali Khan

(c) Nasiruddaula (d) NizamAli

& 808 3"V FrOREI00M @BHEY[W

(@) 2Bo&E o (b) b KoHreard WwOP S

(C) ST er (d) Qdero «d

(1) d,ac,b (2) ab,c,d (3) b,c,da (4) a/d,cb
138. Which one of the following was the first Yakashaganam in Telugu

(1) Yayaticharitra (2) Sugrivavijayam

(3) Tapati Samharanopakhyanam (4) Kridabhiramam

& 808 FAS" BorhS” YR ogmSo

(1) oosrs S0 (2) BS Ducso

(3) 858 JoH TS FryrgSo 4) oo

P31 28-A
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141.

142.

143.

144,
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Which one of the following recite the stories of the ancestors of Lambadas

(1) Bhats (2) Ranjus (3) Pardans (4) Bikshus
©0erde SrePHHO LIS FBG & §od TS IS o BFK

(1) efeSen (2) Soewren (3) dodoen (4) dgsoen
The Yanadi Bhagavatam is also known as

(1) Garudachala Bhagvatam (2) Ankamma Bhagvatam

(3) Ellamma Bhagvatam (4) Pochamma Bhagvatam

oV LTA) a,wﬁé@'f’@o) & Do DO

(1) BShmse eridso (2) ©0839) erisso

(B) dusoy wrirsso (4) 580y arrSEo

The Akkanna-Madanna Temple in Hyderabad is located at
(1) Bahadurpura  (2) Shalibanda (3) Golkonda (4) Karavan

TEerESt @8 H-5rE8) Tarecho & od?
(1) 25srEHo (2) TO0d (3) AsHod 4) s8>

Who among the following Jagirdar helped the British to suppress the 1857 mutiny in
Hyderabad state.

(1) RajaRameshwar Rao of Wanaparthy

(2) RajaVenkata Laxman Rao of Jataprole

(3) RajaRambupal Rao of Gadwal

(4) RajaVenkataraya Nayak Rao of Palwancha

& 808 TOS* O JoTTHHE TETerdy Soky 1857 Ssrharinss wetdos® OER
708 JGPADGT

(1) o oodod6 oo - $558 (2) o Jo wE oY - wl@od
(3) oz o Fr>rd oo - KogdS (4) oo 0800700 T°A0E T - F ol
The Shivaram Wildlife Sanctuary is located in which of the following districts of Telangana
(1) Adilabad - Nizamabad (2) Mahabubnagar - Medak
(3) Karimnagar - Warangal (4) Adilabad - Karimnagar
B0merrd’ & 808 RS® Y ¢ 35070 SIgred HodEer Soo wod?
(1) «dorerd - Jerdrerd (2) SoHrerdSKE - EE
(3) 8803K6 - S80S (4) sdererd - 860386
The Police Action against the Hyderabad State was also known as
(1) Goddard plan (2) Razakar plan
(3) Jai Hyderabad plan (4) Choudariplan
e orago R w00 OD WEg0 & DFomr Ere Deoyd?
(1) Feg &> (2) =88 >
(3) B wdoerd IS (4) FT$6 e
29-A
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Who among the following Lambada leader fought against the “Visnuru dora’ during Telangana
Armed struggle.

(1) Jatoth Tanu Naik (2) BhalluNaik

(3) Tejavat Dasunaik (4) BhukyaBalya

& 1808 IS 2 ©oerd a8k Boome FPasNE Ford 5Pe0e° JRSrd FEE

aége’é'ééom o0 BRI,

1) &S o TaH§ (2) 2oy Tra§

B) BerdSS ToICHE (4) ensg ereg

One of the following was not associated with designing of ‘Telangana Talli’ statue
(1) B.S.Ramulu (2) Bhoopathy Krishnamurthy

(3) Prof. Gangadhar (4) Pasunuri Dayakar

Boomrn SO IET ErHENSS” & 8od FTOST IV g .

(1) B.9%. ocdoen (2) &8 8RS8

(3) wwdy fomes (4) 20878 $STEE

The Commission investigated the incidents related to 1952 Mulki Movement in Hyderabad
was headed by whom of the following

(1) Vaman Naik (2) AkbarHyderi

(3) Jagan Mohan Reddy (4) Ramachari

Ererd 1952 $008) g oode B $Trg) BORS & Bod T0S° AN TPodEEco
S0

(1) o 00§ (2) 86 s

(3) =dS oG (4) odrard

Who among the following undertook the indefinite fast during 1969 Jai Telangana Movement?
(1) Kolisetti Ramdas (2) T.Purshotham Rao

(3) Potu Krishnamurthy (4) Annabathula Ravindranath

1969 B 8oworre wEgHs 00" & Bod T0S° N I0YInEL el TS OF
@S0

(1) §838 ocHhoord (2) &. HHASS o°d

(3) ex ERSrY (4) vaphe SA0ETE

Arrange the following in chronological order

(@ Eightpoint formula (b) Six point formula

(c) Fivepointformula (d) The Presidential order

& 808 T8 TorSEN00S” WEYB0

(@) A& drere HEEo (b) & drere HEso

(€) wowd drere HEEo (d) R2IYHS e

(1) ac,b,d (2) ab,c,d (3) d,b,ca (4) b,ad,c
30-A
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Match the following :

List - |
(@ Telangana Information Trust ()]
(b) Telangana Students Forum (i)
(c) Telanganalkya Vedica (iin)
(d) TelanganaJanasabha (iv)
€ 808 A 23FILW[0

e - |
(@) Boorrm ANTAS L (i)
(b) Beomrw dxRold Fdo (iv)
(C) Boomre 85 6 (iii)
(d) Boormre &3¢S (iv)

The correct answer is
JBRDE Bdrrddn

(1) a-i, b-ii, c-iii, d-iv (2
(3) a-ii, b-i, c-iv, d-iii 4
Arrange the following in chronological order
(@) Sakalajanaula samme (b)
(c) Sagaraharam (d)
& o T8 FPUrS B0 @BHEEW

(@) DBoudo 30 (b)
(c) K8 S*80 (d)
(1) b,c,da (2) a,d,c,b 3)

Booklet Code

List - Il
1997
1998
1991
1986

e - |l
1997
1998
1991
1986

a-v, b-ii, c-i, d-ii
a-iii, b-iv, c-ii, d-i

Million March
Sadak Bandh

DOGHS 578

D88 2008
a,b,d,c (4) b,adc

Who was the convener of Telangana State Advocate Joint Action Committee

(1) M. Rajender Reddy (2)
(3) GandraMohan Rao (4)

Tanneru Sriranga Rao
P. Govardan Reddy

Bvomm o°gd FrgodIdde 20008 B8 €38 N5 §§)5565m 050

(1) o%o. B0 3G (2)
(3) Ko Vo 4)

SN oKk
B, W335 3§

Which one of the following is not correctly matched.

(1) Bellaiah Naik - Lambadi Hakkula Porata Samithi

(2) Dubbagatla Narsing Rao - Munnuru Kapu Hakkula Porata Samithi
(3) BelliKrishna - Golla, Kuruma Hakkula Porata Samithi

(4) \Valigi Prabhakar - Erukala Hakkula Porata Samithi

& 1808 TS DB HBWONS 2&FEH

(1) Bookg T7oHE - woerd iy e Forty HNS
(2) Soepyiiey $9joriTrsd - S 57 FrEY o Focd SN

(3) BYER - e, BB Ty Fordd B

(4) 08 Wergl - BB TEy o Fod DN

31-A
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The Sakala Janula Samme was organised by which one of the following
(1) TelanganaJointAction Committee  (2) Telangana Vidyavantula Vedica

(3) Telangana Rashtra Samiti (4) Telangana Ikya Vedika

& (808 F70S° AV JBouioe IHJYE LYW

(1) Boormre 20008 &85 S0l (2) Boormre dorgdodieo 68
(3) Bwomrs ogd B8 (4) Boormre 2EgI0E

When was the A.P. State Reorganisation Bill introduced in Lok Sabha by Home Minister
Sushil Kumar Shinde

(1) February 3, 2014 (2) February 13,2014

(3) February 20, 2014 (4) March1, 2014

WOEHBT DIEIGIREE Dol FPoB0@ WISESFE 208 SEHLS® DTy HIF DG
(1) %6 3, 2014 (2) %8 13, 2014

(3) S35 20, 2014 (4) &S0y 1, 2014

Assertion (A) :  During summer season Intertropical Convergenic Zone (ITCZ) is located
to the north of Equator.

Reason (R):  The northward shift of ITCZ over India leads to onset of monsoon.
The correct answer is

(1) Both (A)and (R) are true and (R) is the correct explanation of (A)

(2) Both (A)and (R) are true but (R) is not the correct explanation of (A)

(3) (A)istrueand (R) is false

(4) (A)isfalseand (R) is true

P8XSS (A): I 5700S° Wod8 ecHS8Tpe WIS Joodwo aﬁréocsg'éa)& SdSom
& 0eN0AR.

580 (R): @08 waHS3r ©PIGw Dodwo wgdo dEY M TEETF0 3D J¢dso
$5Q 20HIITBEBoM%E To8J0m.

HOGE DIrETEI

(1) (A) 8050 (R) Bodr 2883083 508050 (A) % (R) 988308 D580
(2) (A) 08050 (R) Bodr 863053 57 (A) & (R) $8&%08 58 57c%
(3) (A) 28@o&58 500050 (R) 9

(4) (A) 853 S0 (R) 0830856

32-A



157. Match the following:
List - |
(@ Autotrophs
(b)

(c)

(d)
8o&

Hetrotrophs
Tropic structure

Food chain
D 2BEDHETHED
He38 - |
e (e 0
TSR e
(c) Ero§ B85 (ras Joyeo)
(d) &6 Socho (D& IS)
The correct answer is
DBGS ddrardo

@ (b (c) (d)
Q) v i i i
(2) il iv i i
3) i i ii v
@) i i i iv

(@)
(b)

158. Match the following:
List - |

(@ Guru Shikhar Peak

(b) Dhuadhar waterfall

(c) Thalghatgap

(d) Coral reefs

8o&

T8I 2BI8L0&:
He38 - |

08 3PY IPpoeo
Srerd 2oardo
(€) &S gD

d) Yo¢ Da8en
DB ddeerdo

@ ® © @
Q) v i i i
(2) iii iv [ ii
3 i i i iv
4 i iii [ iv

(@)
(b)

P31

X1

33-A

()

(i)
(iii)
(iv)

(i)

(i)
(iii)
(iv)

(1)

(i)
(iii)
(iv)

(i)

(i)
(iii)
(iv)

A

Booklet Code

List - 1l

Transfer of energy from one level to
another

Hierarchical arrangement of organisms
Depends on other organisms for their
food

Prepare the food themselves

D38 - 1l

2.8 BIS L00& 208° BISS™E ¥§ o0&
2Ho FBSnd FHdESn

e5%80 885 288 Yo wrdhcddo
VIR & BSTrHRE S0

List - 1l
Lakshadweep islands
Western ghats
Narmada river
Avravallis

H838 - I
0EBoren
Dy Eodoew
(‘66&6" 38

8o d¢hen
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Match the following:

List - | List - Il
(@) Kalpakkam (i) Gujarat
(b) Narora (i) Karnataka
(c) Kaiga (iii) UP
(d) Kakrapara (iv) Tamil Nadu
BoB T BSIGH0 -

D38 - | D38 - 1l
(@ 8ogo () Kzos
(b) &&o (i) Somws
(c) s (i) &85 Ha%F
d) sEgaro (iv) Sogarco

The correct answer is
BOFS dErSo

@ ® (© @

Q) v i i i
@) i v i i
(3) i i ii iv
@) i i i iv

Assertion (A) : Tropical cyclones taking origin in South China sea is called as Typhoons.
Reason (R):  Theisobars of tropical cyclone are circular in shape.

The correct answer is

(1) Both (A)and (R) are true and (R) is the correct explanation of (A)

(2) Both (A)and (R) are true but (R) is not the correct explanation of (A)

(3) (A)istrueand (R) is false

(4) (A)isfalseand (R) is true

@EPES (A): &8s BrS® 2ol wpdode SETrerodh Birdwotrd.
s°8=0 (R): wRdode SETere ddondn Tpew SRS E0S totrow.
BOFIS HIFEEIN

(1) (A) 08050 (R)Bodr HBRB0SS 508050 (A) %o (R) 568308 58

(2) (A) 308030 (R) Bodr 38830853 57 (A) % (R) 90&08 D580 570

(3) (A) 20086 $ooos» (R) 859

(4) (A) 85y $0as0 (R) 205086

34-A
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Assertion (A) :  Global warming is caused due to increasing presence of green house gases
and ozone layer depletion.

Reason (R):  Global warming is responsible for lowering of sea level.
The correct answer is

(1) Both (A)and (R) are true and (R) is the correct explanation of (A)
(2) Both (A)and (R) are true but (R) is not the correct explanation of (A)
(3) (A)istrueand (R) is false

(4) (A)isfalseand (R) is true

W8FSS (A): B8 T2 A Srooddo So o LS FE gofo Hu Dol
S088e Mmgoed G KS08.

sdmo (R): Do Hodgo HAFYHesHd @Hows sragdndd s Earodo.

5OGD BETFEBE0

(1) (A) 08050 (R) Bodr 2853083 $o8a50 (A) % (R) 988308 2580

(2) (A) 8050 (R) Bodkr 586083 520 (A) % (R) 383308 D8 5750
(3) (A) 20086 $o0cs» (R) 853

(4) (A) 38088 s°ck (83) 520050 (R) 98088

Read the following statements:

a)  National Advisory Council was established by NDA Government
b)  The chair person of National Advisory Council was Sonia Gandhi
c) National Advisory Council advises Union and State Governments
d)  Prime Minister isthe Chairman of National Advisory Council

8o Trgpgeodd WS

) 8D JoF 0ddI ISR HeHEH0 EYENSE

b) &A> mod 8% VOB Hodd wigiioren

C)  Sol§ K080 T°g HeHEIH0O B doBt Ho0dd deiter @l
d)  erdodH Jeft Hodd et DS $o@

Choose the correct statements:

DBGDS Trgpgen A?

(1) a&d (2) bonly (3) ab&c (4) b&d
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Electronic voting machines were used in general elections of state legislative assemblies
for the first time in 1998 in the following states:

a)  Madhya Pradesh, Rajasthan and Himachal Pradesh

b)  Rajasthan, Uttar Pradesh and Bihar

c) Madhya Pradeshand Kerala

d) Madhya Pradesh, Rajasthan and Delhi

1998 e—9?oo§ Fede AQF0S’ Q@@;&)g 5,830 oHoG@Ineolo I0EEF8 m@oé“
S IBrAODTE?

) EHHBT, TEPS 500050 ErISHRET

b) oaPS, GES1AT 0D HIE

C) BT L8050 3¢

d)  SEgHaT, oadS 28050 &9

(1) d @) c (3 b 4) a

Assertion (A) :  The Parliament can legislate matters in State List in national interest.
Reason (R):  Rajya Sabha is part of Parliament.

The correct answer is

(1) Both (A)and (R) are true and (R) is the correct explanation of (A)

(2) Both (A)and (R) are true and (R) is not the correct explanation of (A)

(3) (A)istrueand (R) is false
(4) (A)isfalseand (R) is true

Y (A): TP eSS ©odsneD IR0l S0 BohSEnd
s~8wo (R): oragdd PYR00EST e

DOGS DJrerS B0

(1) (A) $00050 (R) 2.y $o0080 (A) & (R) 98808 D58e0

(2) (A) 50050 (R) 28y 570 (A) & (R) 9008 D580 5°¢%

(3) (A) iy $o005» (R) 85y

(4) (A) 853 $080%» (R) 0y

Read the following statements:

a)  ArunJaitley is the leader of the house in Rajya Sabha

b)  Narendra Modi is the leader of the house in Lok Sabha
c) Venkaiah Naidu is the leader of the house in Rajya Sabha
d)  Rajnath Singh is the leader of the house in Lok Sabha

o8& Trgpgodd KRS0

8) Cagdyd’ HRE Serardhiidy ol gé

b) S*EdeSS® ©HE deraradudy 8ol Id

C) OragdEs® BRE Serarahiid BosogTaiidd

d) SEdS® P derarcdedy Tead Dok

Choose the correct statements:

VOGS FrgPpgOt BB

1) a&d (2) b&ec 3) c&d (4) a&b
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166. Assertion (A) : Indiaisa Republic
Reason (R):  India has universal adult franchise system
The correct answer is
(1) Both (A)and (R) are true and (R) is the correct explanation of (A)
(2) Both (A)and (R) are true but (R) is not the correct explanation of (A)
(3) (A)istrueand (R) is false
(4) (A)isfalseand (R) is true

e (A): erdEBESn Keadol oresgdo

w80 (R): 2rddBesnd’ s SGrad S iy $558 wd)d
BOES DETESED

(1) (A) 208050 (R) 50608 508050 (A) s (R) 020308 580

(2) (A) 308050 (R) %8308 520 (A) 8 (R) 908308 &8 5°¢%0

(3) (A) 2y $o0as0 (R) 853

(4) (A) g2y S00c50 (R) 20y

167. Assertion (A) : Collective responsibility of cabinet signifies unity and coordination among
members of the council of ministers

Reason (R) :  Itisthe prerogative of the Prime Minister to select or drop a member of
the cabinet

The correct answer is

(1) Both (A)and (R)are true and (R) is the correct explanation of (A)

(2) Both (A)and (R) are true but (R) is not the correct explanation of (A)

(3) (A)istrueand (R) isfalse

(4) (A)isfalseand (R) is true

T (A): Ho08 $o0dOS” pEge $o0a5n DRSO HBNK SHIEL DY ey
Q@ s drDowo.

s°8e0 (R): 5°DIE DA o000 $080%0 SwR0WEN0 DFS500® Jeaso
I etAINIA

B0G0S DIrEEI

(1) (A) S08050 (R) 50608 508050 (A) s (R) 2008 580
(2) (A) 28050 (R) 5883052 520 (A) & (R) 38808 8 5760
(3) (A) ey Sobasn (R) 8oy

(4) (A) g5y 08050 (R) 23

P31 37-A



168.

169.

170.

P31

X1 Booklet Code A

Read the following statements:

a)  Shanmuganathan is appointed as Governor of Meghalaya

b)  Draupadi Murmu is appointed as Governor of Jharkhand

c) Tathagata Roy is appointed as Governor of Arunachal Pradesh
d)  Najma Heptullah is appointed as Governor of Mizoram

Bod Trgpgodd KRS0

a) DD TES RO KSHET Q0o0daRs

b) (@08 508y &gol KIGEM AoHM0B2TS

) SEHdood wherdS HBT HSHEM JaHIoH2BS

d)  SerprQer DT KIGET JoHA0DNTE

Choose the correct statements :

DBGDS FrgPpgOd0 BB

(1) a&c (2) a&b (3) b&d (4) a&d
The two major components of 'inclusive growth' in India include

A) Providing economic benefits to hitherto neglected marginalised sections
B) Exporting manufacturing goods

C) Poverty reduction and employment generation

D) Environmental degradation
(1) A&Conly (2) B&Donly (3) A&Bonly (4) B&Conly

‘é&)o&é?é 269%’6‘&) Bodk HDEed @oéc‘bmm AD?

A)  HSoS® DHBoGS STre 3708 88 HADTrer WokEEo
B) SrgSoarg)0oh ($05r8) SyPes s Basoo

C) “»sos QEm©S ERoY), wrard SO

D) Sorgsder DB)ES

(1) AB08050 Clomgad (2) B %08050 D S50
(3) AB08as0n B Sorgedh (4) B %08050 C Soo@g3

Which one of the following statements is correct with regard to population explosion?
(1) Bothbirth and death rates are high.

(2) Both birth and death rates are low.

(3) Birth rate will be high and death rate decreases very fast.

(4) Birth rate will be low and death rate increases moderately.

23 T8 3):350)&3(‘6& H00H0N Bod TS HIS Tgwg B9

(1) edcre B 08030 Lodeare Béw Voo WHEOM €0 ow.

(2) adcre Tt 0005w Hoerre Téad Todr S8y Sm G otowm.

(3) =dcre Bl whEomr wod, Hderre Bin Foom $HEdod.

(4) a2dcre e S5IM wod, e Tt Ire s EKS08.
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171. Nobel Prize in Economics was awarded to one of the following :

172.

173.

P31

(1) SirC.V.Raman (2) Amarthya Sen

(3) Ch.Hanumantha Rao (4) C.Rangarajan

808 38" wdaHod’ Tend TVHEI FohIE ABIE?

(1) 36 2.9. v (2) eHgs ™S

(3) 2w, Hrdodood oo (4) . SoKfores

Which of the following statements about poverty are correct?

A) Poverty isa socio-economic phenomenon in which a section of the society is unable
to fulfill even its basic necessities of life.

B) The poverty gap measures the transfer that would bring the income of every poor
person exactly upto the poverty line.

C) Aperson whose income or expenditure is so meagre that he lives below the subsistence
level is called as ‘relative poverty’.

(1) AandBonly (2) BandConly

(3) CandAonly (4) A,BandC

26305708 H0200500 §08 T°E3S® D TN DK D?

A)  FSresdE SHAoHFS DEBE0S” S D LderSdored BEEFBI J8S°
D320 A (Paen ot .

B) ©8 & $g8 esmrasr) ooy O ¥ordol emraird8 HErdodg S5 08O W
WIS DE0E HgEgHo Be)E0d.

C) 8% F8E 258 Hgoiord) Bor s aird) §ra FodBA Paw B ‘T g S5’ m
B

(1) AS08050 B Somgo (2) B 508050 C Sgsed

(3) C 2080850 ASmE (4) A BX0dasnC

Which among the following are the two major economic indicators of regional imbalances?

A) Inclusive growth B) Poverty level

C) Per capita income of states D) Social justice

(1) AandBonly (2) BandConly (3) CandDonly (4) DandAonly

Bod TBS* PododH wdHSwgEE Ho0HOD Tow PN ©E JHrdwd ID?

A 3008 28 B) &88 Jpow

C) o Lo $0d8 wrairen D) &&res orgodo

(1) ASo8050 B Somgo (2) B 508050 C Siesed

(3) C 08050 D Somgdo (4) D 308050 ASogR0
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174. Which of the following are the spheres of environment?

A)  Atmosphere B) Biosphere

C) Hydrosphere D) Lithosphere

(1) AandBonly (2) A,BandConly

(3) A,BandDonly (4) AB,CandD

Bod TBS* Horgdd) sddmen ID?

A) sedSwo (Atmosphere) B) gorddwo

C) =orddwo D) 2ordde0

(1) AS08050 B Somgo (2) A, B5080sn C Som g
(3) A, Bo8csw D S (4) A, B,C%08a50D

175. Which of the following decades was declared by the UNO as a ‘Decade of Education for
Sustainable Development’?

Bod TBS' 2 ST wEgoreg S WS wHJB FEE oy Tyom ©HEGoR0s?
(1) 2000-10 (2) 2005-15
(3) 2010-20 (4) 2015-25

176. Match the following:

Organisation Year of establishment
(@) Border Security Force () 1963
(b) Indo-Tibetan Border Police (i) 1965
(c) Sashastra Seema Bal (ii) 1978
(d) Coast Guard (iv) 1962
238 DS H0:
009 THE HoBETEN
(@) DB FSe S¥o (i) 1963
(b) =0&-8BES BOHE) S0 S¥Sn (i) 1965
(c) ¥R DS wedn (iii) 1978
(d) &3Fros 888 S¥S0 (iv) 1962

The correct answer is

BOFIS HIFEEIN

(1) a-ii, b-iv, c-i, d-iii (2) a-ii, b-iv, c-iii, d-i
(3) a-iv, b-ii, c-i, d-iii (4) a-iii, b-i, c-ii, d-iv
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Choose the incorrect statement/s from the following:

a)  The National Physical Laboratory is situated in Lucknow.

b) Indian Research Station ‘Himadri’ is located in Arctic region.

c) Central Food Technological Research Institute is located in Mysore.
d) Central Rice Research Institute is located in Bhubaneswar.

B0 Trgwges® KOS SAB/D AD?

) IS 2RES wra&ed 0§ S

b)  eroS HET ST Tosm ETE 66,85 6RahSSt Sodkb.

C) oS D& Beonss 83§ adyorgtd Fdrds” Soch.

d) 3D 5636 QPTG 2;53253%556‘ .

(1) a&ec (2) b&ec 3) a&d (4) b&d

Read the following statements:

A) Commonwealth Games, 2014 were held in Kaulalampur
B) KabaddiWorld cup, 2016 will be held in Ahmedabad

C) National Games, 2015 were held in Kerala

o Trgpgody KSaS0é:

A 2014, 55838 §den ToreoYrsS® Q8L 0D

B) 2016, g D0 SESNES @ZP&)G"WS BBEINN0H

C) 2015, =805 §ken 38T Q8L 0D T

Choose the correct statements:

38 Frgpgosy Bododk:

(1) A&B (2) B&C (3) C&A 4) AB&C

Highest bridge in India is

(1) Sevoke bridge (2) Naini bridge

(3) Chambal bridge (4) Ellis bridge

T ESREHNS’ IBS F0BS AB?

(1) 258 S085  (2) 30 S0 (3) Woad HoBS (4) 0D H0BS
Mahatma Gandhi Peace Prize for the year 2014 was given to

(1) ISRO (2) ChandiPrasad Bhatt

(3) Desmond Tutu (4) Missionaries of Charity

2530“7595& o8 08 25008, 2014 FodIT S

(1) ISRO (2) w0k P> FES

() Bbyob& & (4) 256D ©H 70
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181. Match the following:

List - | (Day) List - Il (Date)
a)  Earth Day (i) 22" April
b) International Tigers Day (i) 8" June
c) World Oceans Day (iii) 29" July
d)  National Sports Day (iv) 29" August
Bod TR 2EDHSWod :
588 - | (85 %)30) 5858 - 11 (38)
a) $0@ aFHSo (i) oS 22
b) wodgdah Hewe &S S0 (i) =~ 8
C) Howd ddwEre AT ESo (i) 23 29
d) =boh o BFS0 (iv) ©r5 29

The correct answer is

BOFIS HIFEEIN

(1) a-(iii), b-(i), c-(iv), d-(ii) (2) a-(iv), b-(ii), c-(i), d-(iii)
(3) a-(ii), b-(iv), c-(iii), d-(i) (4) a-(i), b-(iii), c-(ii), d-(iv)

182. Read the following statements:
A) Thefirst state in the country to draft its own internal security legislation is Maharashtra.
B) The city to host Bharatiya Pravas Divas in 2017 will be Hyderabad
C) The firstisland district that emerged recently in India is Majuli

o Trgpgodo KSES0é:

A) ©08¢S He® SErQ) SQoWEN) BodEd orP s SoFtory

B) 2017¢° erd&op @hard 83985 eé&go /FE TEoerd Ko

C) ord8d%os” alle ©I80008 &0 S qer Joawrd

Choose the correct statements:

D88 TgpgOd BenHol:

(1) A&B (2) B&C (3) C&A 4) AB&C

183. Sex ratio means (from among the following)
(1) Number of males per 1,000 females (2) Number of males per 100 females
(3) Number of females per 1,000 males (4) Number of females per 100 males

Bod T8S® Do A 2B?

(1) 1,000 S00& @o& &d) PO Doy
(2) 100 S008& @o& @) YD dopg
(3) 1,000 008 HSded &) L?_ooe) domwg
(4) 100 S008 YHDes &) L?_ooe) Doy
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Choose the correct match

Army Navy Airforce
1) Captain Sub-Lientenant  Flight Lientenant
(2) Major Commander Squadron header
3) Colonel Commodore Air commodore
(4) Major-general Rear Admiral Air vice Marshal

DBGS B8 BrD0YED

@6& I Qo063rE)
(1) EBN J5BHJ0eS P BRS0E
(2 SVESYe) NOe<10) TS TS
3) gS ES088 Qonb EdroKks
(4) Dozub-=2385 36 ©&) 85 QoG 3D SrES

Assertion (A) :  Urban center with more than one million population in India is called as
metropolitan city

Reason (R):  Accordingto 2011 census there are only 12 metropolitan cities in India
The correct answer is

(1) Both (A)and (R) are true and (R) is the correct explanation of (A)

(2) Both (A)and (R) are true but (R) is not the correct explanation of (A)

(3) (A)istrue but (R) if false

(4) (A)isfalse but (R) is true

WIES (A): erESBF0S° a8 OGNS 2arerd od) SHoQ) D TOLS 1B ©d
DOT0.

580 (R): 2011 a3y B o ©5C0 rdEBFos” Sdwo 12 Sr@d T rdLS
Ben (SKoren) o).

KOS BIrETEI

(1) (A) 00050 (R)Todr $8G083 S08080 (A) & (R) 988308 580
(2) (A) 08050 (R)Bodsr 583083 570 (A) & (R) 8808 8 5760
(3) (A) 208088 (83%) 520 (R) 3

(4) (A) g5 0 (R) 8083 (083058)
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186. Read the following statements:
A) The DWCRA aimed at providing self-employment to women of BPL families.
B) The NREP was launched in 1980.
C) The NSS organisation gave three concepts of employment to measure its status-usual
status, current weekly status and current daily status
D) The PMRY aimed at providing wage employment in rural areas
Which of the statements given above are correct?
(1) A,BandConly (2) B,CandDonly
(3) A,CandDonly (4) A,BandDonly

8o VIGo8 WEH0& :

A) oSy TpE BHSS Ko HTrFosy dtoho wrE EQyowE A8 agEe DEEo
& G30uad08.

B) &80 (rve erd H¢5°Q) 19805 D058)806° @HRF VDD

C) & &'gher VB B 0BT A8 Fren B, TEHEHE 18 HodS0 e a8 28 o
Sy eSS $08 TG0 | ' |

D) o @Fosros® 385 &Fed EDY0 @8 DT S500@ FEME Borasd evi3Botadod

P AdEBNOS® A HBWoHD?

(1) A, B$o08osw CSomgd (2) B, C %8050 D S5
(3) A, C080%0 D S5 (4) A, B 358030 D S0
187. The present Indian permanent representative to UNO is
(1) Nirupama Sen (2) SyedAkbaruddin
(3) AK. Mukerji (4) H.S.Puri
0Egoreg JABS® o8 THE (DAIB (D2e50)
(1) dSIo™S (2) do%gh e§Hss
(3) 3. Sopd (4) >8R Ird
188. Which of the following are the three major forms of pollution?
A) Air pollution B) Water pollution
C) Noise pollution D) Land pollution
The correct answer is
(1) A,B&Conly (2) B,C&Donly
(3) C,D&Aonly (4) D,A&Bonly
Bod TBS® Kordd TS SPeody sten (Srdren) I?
A) B sTendgo B) Q& scendgo
C) & srendgo D) &8& sendgo
BOFIS HIFEEIN
(1) A B&C3»e (2) B,C&D S
(3) C,D&ASHED (4) D,A&BSmgd
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191.

192.
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The National SC/ST Hub will be launched in the city

(1) Jaipur (2) Agra (3) Nagpur (4) Ludhiana
2O ey Soore/Bie TE SoDoT SKEES0
(1) B8FS (2) e (3) &AyS (4) orddsror

The world’s largest solar power plant is installed in the state

(1) Rajasthan (2) Tamilnadu (3) AndhraPradesh (4) Haryana
BDHoWB0S" wdgod DERS I &)Y So St PEoPoRS TR
(1) ocaxs (2) s2g%0 (3) soas (4) Sogs
Smallest parliamentary constituency in terms of number of electors is
(1) Ladak (2) Damanand Diu
(3) Lakshadweep (4) Andamanand Nicobar island
&808 Ddopg 8@“5 08 QL) S8 AR 300
(1) o«§ (2) @SS & &osw
(3) ©g& (4) ©0dSrS & J8%erS Hgdin
Match the following:
Day (Significance) Month
a)  World Kidney Day 1) Feb4
b)  World Cancer Day i)  March, 24
c)  World Tuberculosis Day iii) March, 10
d) World Disabled Day iv) December, 3
eSS RIINST DSy FosdE D82S B0 FRoDS BoSd)FS0
Ee | S0y S
Q) ok 8% S 1) D56 14
b) ©Hol 5 & i) &) 24
C) Do oS & i) &8 10
d) o088 dgorove & V) &oeb3

The correct answer is
DO HIFEEIN

(1) a-ii, b-iv, c-iii, d-i (2) a-iv, b-ii, c-i, d-iii

(3) a-iii, b-ii, c-iv, d-i (4) a-iii, b-i, c-ii, d-iv

The first sponge iron plant was established in

(1) Telangana (2) Andhra (3) Rayalaseema (4) Bundelkhand

0065 FYo& 288 oy IOFTAS HBFo

(1) Bworre (2) o (3) oo (4) e0oBSpo&k
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Choose the incorrect pair from the following:

Stadium Location Stadium Location
(1) Keenan stadium Jamshedpur (2) Shivaji stadium Pune
(3) Ranjistadium Kolkata (4) D.Y. Patil stadium Navi Mumbai
8ol T8S® KOS 28 AR ¢
RER DIFS00 AR DIFS00
(1) 858 Hacs 20 nEIE (2) saz RaIHS R
(3) ozt & Soge (4) &3.>85 QYaKHD S Snowown

Match the following:

Day Date
a)  National Science Day i)  October, 8
b)  AirForce Day i)  February, 28
c) NavyDay iii) May, 21
d)  AntiTerrorism day iv) December, 4
808 TEI 2EHST50

%o &89
) 8o TR B35 ) o868, 8
b) &rasnd &3S0 i) eS8, 28
C) IJIs¥ BISw i) 3, 21
d) &ord 53838 O35 V) &ow6, 4

The correct answer is

BOFIS HIFEEIN

(1) a-iii, b-i, c-iv, d-ii (2) a-i, b-iii, c-iv, d-ii
(3) a-ii, b-i, c-iv, d-iii (4) a-iv, b-ii, c-iii, d-i

Consider the following statements

a)  Supreme Court Constituted Social Justice Bench in the year 2015.

b)  The Social Justice Bench of Supreme Court was set up by the Chief Justice of India,
H.L. Dattu.

c) The Social Justice Bench sits every Friday to hear the cases.

Bod argpgolo HORES0R B!
8) 2015 &° Do B ydres Tgob BoSK AGEDSE.
b) Do 8 Fires gob BoSK rdE HES 5o TE.IS. ey AEBAT .
C) 8 HETEI0 FSres TogodH Dol Tgaganed H83O0WD.
Choose the correct statement/s :
H00S J"ggpg(oo) :
(1) a&b (2) c&a (3) b&c 4) a
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The Chairman of Commission on De-Notified and Nomadic Tribes is

(1) Shravan Singh Rathore (2) BhikuRam

(3) KariaMunda (4) Babulal Marandi
AP H0BXD Dowrd wréhe TR B!

(1) @55 2oh o8& (2) 8% oo

(3) 8o0% Lo (4) erenerd So8od
Bharat Nepal Maitri bus service runs between

(1) Delhito Kathmandu (2) Varanasito Kathmandu
(3) Allahabad to Kathmandu (4) Gayato Kathmandu
TEE I>S P& 2D el €O SKoren

(1) &9 S0Bosw gregodd (2) &erd SoBoin grévodkd
(B) woird $0d%0 grivokd (4) Koo 58080 gprenocd

Consider the following statements:

a)  Operation Rahat, 2015 was commanded by Gen V.K. Singh.

b)  Operation Rahat is a rescue mission to evacuate Indian civilians from Syria.
c) INS Sumitrawas deployed in Operation Rahat

Bod argpgolo HORESoR B!

Q) ©dodS o, 2015 K moﬁoéeﬁsm 0N 2I8S D.3. JoA.
b) 2005 $08 rdd T 8oT0BIE INTDIG BHBIS TS,
C) ©HBAS THSS' pISTID DWGBH GIREACDTE.

Choose the correct statements:

DBGDS Trgpgew:

1) a&ec (2) a&b (3) b&c (4) ab&c
Match the following:
Minister Union Government
(@ H.M. Patel (i)  Finance Minister, N F Government
(b) Indrajit Gupta (i)  Defence Minister, NDA-I
(c) Madhu Dandavate (iit)  Finance Minister, Janata Government
(d) George Fernandes (iv)  Home Minister, UF Government
8ol T8 BSHEWd00:
50018 B0l (e e
(@) rE.aH. HBS () =08 #p 0@, 8D Po& Hehdgn
(b) 2o=s KHH (i) S8 7o 0@, ISEI-I BHeHSg50
(€) S Somda (iil) 88 zp 08, ude SN0
(d) e§ DoyorE (Iv) &0 p 0B, BIBE oS &S50

The correct answer is

BOFIS HEFEEIN

(1) a-ii, b-iv, c-i, d-iii (2) a-iv, b-iii, c-i, d-ii
(3) a-iv, b-ii, c-i, d-iii (4) a-iii, b-iv, c-i, d-ii
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